1 1 C0097 HANDVATGEHEEL

2 1 C0113 HANDVATAS

3 4 C0075 SLUITHULS HANDVATAS

4 4 102395 | ALLEN-SCHROEF M8x30 DIN 7991 8.8
5 1 107381 | SCHUIMRUBBER VOOR HANDVATEN
6 2 102532 | SCHROEF/PLAAT 3.9x9.5 DIN 7981

7 1 107138 | DEFLECTOR UITLAAT

8 1 107228 | STICKER GEHOORBESCHERMING

9 1 107389 | STICKER 102 Db(A) 40x36

10 1 104214 | MOTOR HONDA GX 160 QX

11 6 102448CB | ZESKANTBOUT M8x40 DIN 933 8.8
12 10 102158CB | SLUITRING GROWER 8 B DIN 127

13 2 102208 | ZESKANTMOER DIN 934 M8 8.8

14 2 102546 | SCHROEF/PLAAT 4,2x19 DIN 7981
15 2 107341 | TYPEPLAATJE NUMMERING

16 2 102458CB | ZESKANTBOUT M10x20 DIN 933 8.8
17 6 102159CB | SLUITRING GROWER 10 B DIN 127




18 2 102181 | PLATTE SLUITRING 10 DIN 9021

19 1 C0095 MOTORONDERSTEL

20 2 107186 |SCHOKDEMPER D =50L =45 MH M10
21 2 107140 |SCHOKDEMPER D =70L =50 MH M10
22 1 107470 | A34 13x855 LI CONTINENTAL

23 1 107180 | KOPPELING

24 2 102460CB | ZESKANTBOUT M10x25 DIN 933 8.8
25 2 BW2541 | AANSPANNINGSBLAD

26 3 102440CB | ZESKANTBOUT M8x16 DIN 6921

27 1 C0084 SNAARBEDEKKER

28 1 102467 | ZESKANTBOUT SAE5/16x20 933 8.8
29 1 C0015 KOPPELINGSHULS

30 1 C0019 HANDVATAS

31 1 102466 | ZESKANTBOUT SAE5/16x30 933 8.8
32 1 102116CB | PL. AFGESCHUINDE SLUITRING 8 DIN 125
33 1 C0096 KOOIGEHEEL

34 2 107379 | ENKELE AANSLAG 40x28 HOL REF.161061
35 1 102218 | ZESKANTMOER M20x1,5 DIN 936 8.8
36 1 107380 | BORGPEN CODE SG1214vz

37 2 102457CB | ZESKANTBOUT M10x15 DIN 933 8.8
38 1 107187 | AANSLAG D=25 L=15 M M8

39 2 C0074 NYLONHULS

40 2 103215 | borgring E 10 DIN 6799

41 2 107382 | WIEL 10-125

42 1 C0108 WIELHOUDERGEHEEL

43 1 C0112 BUIS HANDVATAS

44 1 C0073 WIELVERANKERING

45 2 102433CB | ZESKANTBOUT M8x15 DIN 933 8.8

46 2 107378 | ELAST. SCHARNIERPUNT 16x32x28x25 REF. 161061
47 1 C0072 LINKER HANDVATSTEUN

48 1 C0070 RECHTER HANDVATSTEUN




16 17 18

1 12 102331CB ALLEN-SCHROEF M8 x 15

2 1 C0101 ACHTERDEKSEL

3 2 101869 O-RING 94.92x2.62

4 2 101101 KOGELLAGER

5 2 107465 DOP DIN 906 M24x1.5

6 1 C0088 BASIS TRILPLAAT 430 mm

7 1 107415 DOP DIN 908 G 3/8 A

8 1 107131 KOPEREN SLUITRING 1.5x13x18
9 1 BV1607 EXCENTRIEK

10 2 102344 ALLEN-SCHROEF M12 x 40

11 1 C0103 AS EXCENTRIEK

12 1 C0011 SPIE EXCENTRIEK

13 1 101731 KEERRING

14 1 C0100 VOORDEKSEL

15 1 BV1314 POELIE EXCENTRIEK

16 1 BV1315 SLUITRING POELIE

17 1 102161 SLUITRING GROWER DIN 127 - A 12
18 1 102343 ALLEN-SCHROEF M12 x 25




